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R BRI (ER) S| g eams [ECEE0 s
RE " (EeRE 3.9 6.6|=.50.K
REE ® (TRE+Z 01 109 140|EE.X
REE F |HRE+ZDi 118 118|E=Z8.X
REE - |AR% 216758 | 220058 | = 18
RE F |[EERE 34 34|EH.K
RE F |REE+TOM 0.3 2.4

RE f |MEERExE 0.8 1.3|E.K
RE " [HERE 4.8 5.1

RE F | RBEE+ZOM 2.1 15

RE i |\ REE 3.6 36|E.=
RE & |\ RieE 6.2 6.2| =81
RE - |RHE%E 2.0 20| = 48
REE " MR 2.7 29|= 8K
RE " (EERE 2.9 29K
RE F R 2.3 2.3|=, K
e B’ (e 1.2 1.2

RE £ |REE+ToMm 2.0 20|58
REE - |FEEREF 0.8 1.4|= 58
RE | (RBE O 96| 125|=.F.K
RE f |EERE 3.0 30|E, X
e F |EERE 14.0 15.0| = .8i.X
RE - [BERE 16 1.6|=.3.K
REE A |EERFR+Z0i 0.6 6.5

REE A |TRE+Z0fh 7.0 8.0

RE B (REEX+zoit 1.6 1.6

e " (B2 8.5 8.5|=.81.K
RE A |EERE 45 45|8.KX
RE F |RE%E 2.2 2.2

RE F R 3.3 3.3

RE i | REE 3.9 3.9

RE | REE+ZOM 3.3 3.3

e F |RE%E 1.1 1.7|B.8.K
RE &\ (fEE-TEXR 1.0 1.0

RE i | REE 4.0 4.0

R - [EERE 15 1.6|=.K
RE - |RHE%E 0.6 1.9

RE — |EERE 0.0 3.2

RE - [R5 0.0 2.0

RE - [EERE 232| 282|F.E.X
e i | REE 2.8 27|8A.8.K




5 SEROMBOTLEGIRERGRNF) BEF 273

R Bk (E4) S| g eams [ECEE0 s
RE&E | [EDtnEE 1,150%%| 1,150%%|5A. 2
RE | RBE+TO4M 3.9 39|81 B
RE - | BB 4.3 43|EA.&
e - [fEE-fEXR 4.2 42| K&
RE - [fEE-TEXR 35 6.4| K. 5
e - [fEE-fEXR 4.5 45| K=&
RE g [fEE-fEX 96| 116/K=%=
RE - |MEERE 5.3 53| K. =
REE F |FRE+ZD 320 320|X.= A
RE F [fEE-TEXR 8.0 90| K=&
REE - [fEE-FEXR 7.2 8.0| K&
e B |BEREx 2.3 26| KB
& 209| 209
e " (EERE 0.6 0.6|&. 57
RE - |RE%E 18 18|8.8
RE - [fEE-fEXR 4.3 44|=Z £ =K
RE £ | B8 1.0  11.0=F 48
REE F |[EEEE R 2.1 25| KB
& B 38 3.8

RE - |MEERE 2.0 20| K. 5
RE — |TRIE+Z DM 0.0 10|82

REE F (EERE 0.0 6.9|%. = K
E ) B’ (EERER 0.2 02|88 5
ZDth #HERE 0.8 0.8|=.5A

Z Dt e EIE] 3.2 3.2

ZDHh R&5E 3.2 32|E.K
ZDith B 1.2 1.2

ZDfth Rt 1.6 16|E.=.K
ZDfth HERE 2.0 2.0

ZDfth B 1.3 1.3|E.K

Z 01 fEE-TEX 2.2 2.2

ZOHEA B 0.5 0.5

ZDfth HERE 2.8 28|=.&
ZDfth Rt 1.0 1.0

Z 01 REE 0.2 0.2

Z D L& 0.6 0.6

Z D1 fEE-TEX 0.8 0.8

ZDith EEE 15 153K

Z 01 REE 1.8 18

ZDth B 1.4 1.4
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R Bk (E4) S| g eams [ECEE0 s
ZDfth HERE 4.6 4.6|= 8.k
ZDfth Frx 1.2 1.2|= 8
Z 01 REE 0.7 0.7
ZDHh BHERE 3.3 3.3
Z Dt HERE 15 15
ZDfth #HERE 2.5 25[E.=.K
ZDith B 6.3 6.3
ZDfth #HERE 2.5 2.5
T Dt Rit5E 33 33lE.=
ZDH fEE-fEX 0.2 02|E1.E.K
ZDfth Frx 3.1 31| K==
ZDfth B 0.4 04| K. &

T DAt R4 38 38|8. =
ZDfth RE%E 33 337/ .=
&t IBRER 133.00 | 159.90
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